Triple Variable Simultaneous Equations
Solve these sets of simultaneous equations:
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What about these?
	[image: image22.png]What value do you assign to each icon
to make the equations true?

UH+&+5 =11
W+&88+ 565 =20
M0N0 L & 1 M = 23




	[image: image23.png]What value do you assign to each icon
to make the equations true?

“u+&+5 =0
U+@888-(Ho9H=0
N-&ee) =16






Try these…
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	[image: image28.jpg]Positive integers x, y and z satisfy the equations:

x?+y+z=1988,
x + y* + z = 2020.

What is the value of z?






Triple Variable Simultaneous Equations

Solve these sets of simultaneous equations:

1. 
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a=2, b=3, c=4
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x=4, y=-4, z=-4
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1,2,3 
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1,-1,2
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1,-3,-5
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7,5,0
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-0.1, -0.1, 0.1

What about these?

	Rabbit = 2

Egg = 3

Chick = 4
	Rabbit = 4

Egg = -4

Chick = 4


Try these…

	a = 5

b = 4

c = -6

d = -3
	x = 16

y= 17

z = 1715


17
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